HEMEFE I —OBRSHRAERRE &

Tri245%1 826 B8IFE

T RIEHRER[ 1 Sv/h] A5 RIEHRER[u Sv/h]
7 A== p—— —— —— = N = pra — —
5 BIE SRR =x =x =X "% #h 5 BITE R R =X =X =X e
100cm 50cm 5cm 100cm 50cm 5cm
1 |zEREET 0.07 0.08 0.13 21
2 |zE—7F 0.07 0.07 0.10 22
3 %%i‘%” i 0.07 0.08 0.11 23
4 |RREHFEE 0.06 0.06 0.06 24
5 g—;éiﬁg 0.06 0.07 0.07 25
IBEAFEE
6 %gﬁﬁ% 0.07 0.10 0.18 26
B X O 2 oo B
7 %g‘%ﬁ‘f’ == 0.06 0.07 0.06 27
B T O 2 o B
8 %gﬁ‘zﬁ == 0.06 0.07 0.10 28
90 |EteRISTAET 0.07 0.09 0.10 29
10 |&mtareE 0.07 0.07 0.07 30
11 31
12 32
13 33
14 34
15 35
16 36
17 37
18 38
19 39
20 40

MAEHRIL REDMERES R,



fEEkE  FTHEMEEE 5 —

Hi [ = =] = i = [ = it 7] _
oy ElREE E ElRE=E EE T Fh = BTk E= EHRT RN
1 LR T 4 |RREFHETEE (&) 7 PEREFEEREL 10 KEHEEE 13
2 AO0—JF 5 | EREBMBEERD 8 FEREFEEREL 11 14
3 X RET5mT AR 6 IREEEM S LM 9 RIS & Ly 12 15




